EARAROBEEIERT — 2 N— IBISH —F

2012888160 (k) 4miEFR6H

M >%3m%LE C2= (xwlw | lmEmml - |5 @) o 8
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . sy . o _ XAEE= (BAM)
118110 S Sy R % 3 an * 1.(3_1).7 1-1-1-1 | 39.6 2 (igz) AP
RNy a—TA7748— B:7—-XIv—7 Ja—Y—T77—LA
sov 4 N Hrh :32. -0 . — BARE (EE
2178 I—>v>TyRe> i g 55.0:!_ (12312/21) re2 | 398 1 2)29) THENX
R:d—IWR7Ya—Ib B:7A4F3I2TH— BR&t TH77-L4
TS 7 3 | MAEEE 1:33.1 10-10-7-7 | 39.7 | — 7 439 | RIREE (EA)
3177 Y- X % £0 (6) (-5) () *—x47
LvAxNTT B:74) Ela=X njiibie)
o - AFfE : 56— — HBHEE (FEk)
al1lqlEY =0 4 3 vl 1.(313).3 5-5-6-4 | 40.4 5 51_383; MH;%
R:x¥/ by THY B:Ey IV KEKS
. 7 o4 | PREMK 1:33.4 7-7-9-9 | 39.7| — 9 494 | BE—F (TEH)
sl 2| 7HET -7 5.0 (7€) (o) | @8 Tr-ZrETas
R:TIv k=0 B:axI3239%9F4F ErNRT7—L
6 6| bILVUT 3 | LER 1( 733t;5 8-8-55 |40.2| — | 4 | 402 ﬁf;:ﬁ;ﬁm
QNI IS B ALY M4 | im 3L
- P . 9-5- - BRI ()
7 4|77 —2 i 3 ks 1.(3133.7 9-9-8-6 | 40.4 6 12(1);3 iy
ITIN=K BiuA - v—7 B OE—
. N JNRE— : —4-3- — E2F (EM)
glsls| x1vamesvy 4 3 A 1(.13/32.)8 4-4-3-3 | 41.1 3 &2} s
RV KYIYRIR BiALSa9ARHIL EEtie ]
s 4 5 | BBEHT 1:33.8 6-6-10-10 | 40.0 | — 8 445 | HHRFMER (FEH)
EH 3| H=FY 753.0 NF) o |BIER
R:TLLFFEaT BITVULUR HET7— L
. REFR :35. -3-4- . — A (EH
wolslg TAY 4y 1 % 3 e 1(375)0 3-3-4-8 | 42.5 10 (:;13) M%EWE-T-
Ry RYIYZRIRX B:¥a—Kya7 5 5
® 1—F—@EBIERL
1T=7r= 10,8,9,5,1,3,2,6,4,7
20—F— 10,8,9,5,1,3,2,6,4,7
30—4+— 10,8,5,9,6,1,7,4,2,3
40—+ — 10,8,5,1,6,4,7,9,2,3
[ N5
B 10 390H 714K 8-10 240M e E 7-8 390M JEE 7-8-10 2,560
B B 10 130M 7-10 1,450 B = 8-10 530 EE 10-8-7 9,640M
8 110M 7-8 560M B H 10-8 1,110
7 1809

ABICOVWTRDTEEERROODE. TR LIV,




